. ACCOUNTING AND FINANCE
First Paper : : Income Tax Law and Accounts

Time allowed : Three hours Maximum Marks 100
Part- A (Compulsory)
AN S YL BRAT AT ¥ | GG Y B SR 50 IeaT A Aferp TE Bl
MY | 9N G i B 3T T
Part - B (Compulsory)
A U9 99T AR | S Y99 BT SR 100 IET a@?ﬁﬂﬁ'ﬁhﬂﬁﬂ%ﬁf!
TN 91 & 3/ 9 S
Part - C (Compulsory)
TAF THIE N TP Yo g §Y, BT M U9 DI | TP JePI SR 400
R SIS & BF1 9 | 9 el & Sih THH & |

Part-A .
L What do you mean by Person' according to the Income Tax Act, 1961 ?
' D ARIIH, 1961 T AR AT ¥ ST T FHSI &7
2, Enumerate any three incomes which are totally exempt from income tax.

¥ 561 T ST &1 Soera PV STRIHR | gofaar axga &l
Mr. Manish Sharma is employed as'an Officer with a Public Limited
Company. He is in the pay scalé of Rs.'16,600-800-24,000 since 1st Sep-
tember, 2012. Calculate hisbasicsalary for Assessment Year.2016-17.

A 7 Tt TP ARG SR H SREN & WY 9 gad 819 1
TR ¥ 9. 16000-800-24000 & a9 A & | SRR
9 2016—17 & Q87 & 0 B T0ET B |

Ram took a loan 6fRs. 15,00,000 @ 10% per annum on 1.7.2012 for the
construction of a house The construction of the house was com-
pleted inthe’previous year 2015-16. Compute for the assessment year
2016-17 the amount of interest deductible in computing the income
from house property if the house is (i) let out (ii) self occupied. :
XA S HBH ITAM D 1T 1.7.2012 B BWT 1500000 & 707 .
10 wfrerd wRas & =% ¥ RRIT 9@ TN 2015-16 ¥ I9PT
¥R o | F-FERT 9 20 1 6—1 7 @ A9 7B Ty &Y g Ay
U R B T BRI TG RN B 0T BN, A b (i) fBRm)
U SOMIT BT & (i) TP W&F & B Pl

What is the rate of depreciation for the following type of assets:

(@) Aeroplane
(b) Water Purification Plant Installed after 1.9. 2002

(c©) FlourMill Plant
ﬁwmﬁmﬁﬁwmﬁ%mﬁ@m

(a) &R STEN
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10.

11.

(b) el WA eg 1.9.2002 & 1§ AR T SYHOT

(c) 3T e wve
Give any three examples of such transactions which ae not regarded
as transfer under the head income from Capital Gains.

il T e Y 3T Y O RS G N DS A IETERT ARR

fSTen! EeaaRoT & A o R
During the previous year 2015-16 in the month of March, 2016 Ram'
received as interest of Rs. 5,400 from Shyam.and Mohan each. Shyam
and Mohan both are a sole proprietor of their business. During the
financial year 2014-15 the gross turnover of Shyam was Rs. 1,20,000
while the gross turnover of Mohan was only Rs. 80,00,000.(Calculate
the income from other sources of Ram.
M A WE &R A8 TS W 9 201 5-16 ¥ 9T 5400 <
@ AR, 2016 7 9T 5 | T AR A SR SUN-o S9Ey @
T W g W P g e R Pho 0y 4—15 ¥ v9)
12000000 91 w™id AET & oI [Nhi-ddel 9 80,00,000
A | T B 3T AIEFT A 3T A DY@ 1 T DR |
Explain the deduction to be allowed under Section 10(32) when the
income of minor child is includedin the'total income of his parents.

TP IIUEH T B A B JIBNITAES H oA g F e
B WX GRT 10(32) D TERELSH 9107 BT Dt T |

Can an assessee get deduction under Section 80 C without making
any payment during.the,previous year? If yes, how?

I 9 A R BE gAY BRaErr @ 9T 80C Y B

fireT woah 37 IR &, T PR
What is Standatrd Rent? A fhmn qar & ?
") Part-B o
Mr. Mahesh is engaged in the business of civil construction. During
the previous year 2015-16 his gross receipts from, such business

amoutit to Rs. 54,00,000 which does not include Rs. 4,00,000 being the
cost of material supplied by the contractees. He wants to claim the

following deductions.

Cost of material used 22,50,000
Salary to employees ‘ 340,000
Depreciation ' 3,20,000
Other expenses : 1,80,000

Advise him whether he should op or not for the scheme of presump-
tive profit under Section 44 A.D.

ﬁmmﬁaﬁqhzbmmu_ﬁaﬂgq%lmé 2015-16 ¥
ST T 2 P HpeT VR TA54,00,000 2B 28 ¥ | gy
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18.

14,
15.

16.

' %@ﬁmﬁmﬁﬁ‘w Tel BT ST R 4,07077,6760 M TEE A

=1 ST o1 g[Er FRG ©

3”"’3'.5”’5' T I B e 22.50,000
SR BT 3 - 3,40,000
T 3,20,000
g Y 1.80,000

eiTe SRR b S7a1 a1 44.A.D. # RA T IR ard TEl
TIGTAT B YT FRY 3Ferar =78 | | |

The total income of Shri Ramesh isRs. 2,51,200. Calculatg gross tax
payable by him for he assessment year 2016-17. p

Iftotal income of him Rs. 10,000 is included in respect of Horse Race
winning, show the difference in the gross tax liability for he assess-
ment vear 2016-17 by calculating the amount of tax payable.” ,
1 XA B BT A2, 2,51,200 FIFR-FARG T 2016-17 P
1T 9GS BRI 3 TFHe SR B TOHI SRNGN IR SH! Gl I H g8
Jre § oIl 7 AR & v ©,100,000 ftafea & @ a-Fe
RO G 2016—17 B RIT T qe) BY-aNAT BN T~ BT IR

&1 N &) TUMAT B Y AT | |

On what dates are the instalident’of advance tax due? -

Rea-fra RifY o1 AR SR oI bt < Bl 87 |
What is Best judgenient Assessment'? HarH Fioiy xR FE?
Sudhir sold his only house property occupied by him as residential
house for Rs55.00,000 in the month of January, 2016. Thus house
property was purchased by him in the month of Jue, 1978 for a con- -

siderationof RS. 3.00,000 and its fair market valueason 1.4. 1981 was
Rs. 4,00,000. In the year 1988-89 he incurred an expenditure of Rs.

- 1,61,000'1m the'construction of two rooms in the upper storey. Com-

pute the taxable amount of capital gain for the assessment year 2016-

\ 17. Cost inflation index for the year 1988-89is 161.

geﬁqﬁmﬁﬁ%zﬁrmwwﬁm‘rmﬁ, 2016 9 9.
55.00,000 ¥ 4TI I8 AP wHafy 99 o[, 1978 & ©.
3,00,000 % @A & qA 1 .4.1981 31 3951 TR 9H ©.
4.,00,000 &1 1988-89 ¥ 9N SUd T RA TR P
frefor % . 1,61,000 @ | FR-FeRor % 2016-17 3
mﬁ—miﬁmaﬂmﬁmlaﬁ 1988-89 &I AFM

YOR GEhiP 161 Tl
Part-C

' Unit-I
During the last financial year 2015-16 Shri Ram had the following
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taxable incomes:

Rs.

(@) Salary income received in India for the ,'

services rendered in Japan (computed) | 10,000
(b) Income from profession in India but "

received in Japan | 3,000
(c) Property income in Malaya (out of

which Rs. 3,000 was remitted to India) 6,000
(d) Profit earned from business in Indore | 5,000
(¢) Agricultural income in Kenya 10,000

) Profit from a busingss carried on 20,000
at Nepal but controlled from India .
(g) Pastuntaxed profits remitted to India
during previous year from U.S.A. 10,000
Compute the total income of Shri Ram for the assessment year 20 16_'7
17 if he is (i) Resident, (ii) Not ordinarily resident, andh(iii) Non-resi-
dent in India. . \

Taas 2015-16 @ Rd o F £ B FAT I a9

v.
@) <arF A 3 T darel & Y aRTH -
g ¥a (aBferd) 10,000
() TR W A A TG S DI B TR 3,000
(o) wemn ¥ wEhy ¥ o (Rt 9 |
: %. 3,000 R A 49 ) 6,000
d) TR ¥ aANR § sl . . - 5,000
(e) B H g Ham | 10,000
@® o YAe WH I AR e
foran g ARd | 2 € | 20,000
(g) as & Gga o SRS § ARG
\ TR e e o R e
@] AG T al o 10,000

FR-FraRorad 201617 S om0 A I B Fai I B I0FT B
afe 98 9RT F (i) FERN (i) SRERY FAaR, W@ (i) sfHarh 2
Or

Mr. X is the Principal of Shri Ram College, Delhi. He was fixed in the
new pay scale Rs. 37,400-67,000 at Rs. 43,400 and academic grade pay
of Rs. 9,000 on 1st July, 2011 As per rules he is entitled to get annual
‘increment @ 3% of salary and academic gr‘ade pay which is rounded
off to multiple of Rs. 10. He gets 60% of basic pay and academic grade
pay as dearness allowance and 8% of the basic pay and academic
grade pay as city compensatory allowance. He has been provided
with a furnished accommodation by the college owned by it of the

i,
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estimated rental value of Rs. 4000 p.m. But the college recovers from
him only Rs. 1,000 p.m. Furniture costing Rs. 25,000 has also been
provided by the college for which the college recovers from him Rs.
100 p.m. He hasbeen given a car of 1.6 litre (¢.c.), whichis used by him
for personal purpose also. The driver's remuneration and all the ex-
penses relating to the official use of the care are borne by the college.
He has been provided with the facility of a gardener, a watchman ahd
a servant who are paid by the collegeRs. p.m., Rs. 4.50 p.m. and Rs.

300 p.m. respectively. |
He contributes 15% of his pay and dearness allowance to the Recognised

provident fund towards which the college contributes an equal amount.
Interest amounting to Rs. 2,500 at 12 1/2% has been creditedon the
balance standing to the credit of his Provident Fund Accounts:

On 1st April, 2015 he took interest free loan of Rs. 1,50,000 from his
employer for the marriage of his daughter. Out of if\he repaid Rs.
50,000 on 1st December, 2015. During the previous yearhe received
Rs. 2,400 from the Delhi university as remuneration for examining the
answer books of the students. Assuming that‘the salary becomes
due on the first day of the next month, deterniin€ his taxable income
under the head 'Salaries' for the assessment year 2016-17.

5 X A < Fior, R & el ENFTe 1 AR, 2011 DR
I %, 37,400—67,000 @ @97d ©. 43,400 V9 TBSAD

IS T . 9000 TR ReR frapaar| FEgaR 3 ¥ T vasfie IS
T 3 S e Jo9,3fe UF @ SRR €SI 5 9. 10 &
¥ QUi 1 A ¥ | ST I T YD IS T 60 R
TS e we 8y PR R el ¥ Y@ gaioed Ao
AT W Biere &g YE @ fore fRar 1 ¥, foraeT gt
BRI ©. 4,000 JRATE ¥ TR Hiorel 78 YT ©. 1,000 URE
T BN & LS B. 25,000 AN B Fra] W Bierd o 8
Araa RITGAR ©. 100 TRATE 9x R SR 8197 U9 1.6 WX
st BLaie A 4 TS ¥, A gD PN ST F ff R &1 PR & AR
~ pruRefie ARPRN g T S TR = Pt I8 B &1 ST
,_ AN, v BIER A T e o gfaer G o & forel e v, 450,
% 450, 991%. 300 WAE Pieral B AR ¥ R o ¥
3 it wfRsafif F da9 &R HEIE W P 1 5 URen SiEeH <o
¥ R Piore @ A g & Siwar ¥ | ity § s i 9w 12
1/2qﬁ1ma?ravﬁv,2,soom$mmﬁ5&ﬂﬁ€n |
<= 1 &, 2015 P S G A A B e o Frle A 9.
1,50,000 T R TS T 01 R & | /e /¥ 872 %. 50,000
575607 | FERTIY 20 1 5 Pt R | 7 ¥ 5% Bl ot SeR-gRaa
o B e R Reafiee 3 0. 2,400 T IR i go1 | 78
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AR 5T 6 TN 3 AT T o1 T I 1 1 Bl &, SH I
A B TR AT I/ 201 6—1 7 FR=FveiRor o & g w7 Hifw |
Unit-II

117. Mr. Mehata runs a Drug Industry. His Profit and Loss Account showed
anet profit of Rs. 14,50,000 for the year ending 3 1st March 2016. After
g:onmden_ng the following further information, compute his taxable
income froth Business for the Assessment Year 2016-17:
L The debit of the Profit and Loss Account includes the following:

() During (he previous year he paid Rs. 60.000 for obtaininga
licence for the operation of Telecommunication Services
for 5 years. |

(i) He spent Rs. 10,000 for the promotion of Family Planning
Programme among the employees. The expenditure of Rs.
3,000 was of capital nature. -

(i) He donated Rs. 40,000 to Rajasthan University»The amount
is to be used by the University in conducting an approved
Scientific Research Programme. S

(iv) He had received a demand notice for payment of tax for Rs.
12,000 from the Sales Tax Department. He did not pay the

.amount till due date for fufnishing return but made provi-
. sion of the whole-amount int Profit and Loss Account.

(+) Commission to brokersavas outstanding on 3 1st March, 2016
to the extent of Rs«8,000. To.was later on paid in May, 2017.

(vi) Interest amounting toRs. 25,000 on a term loan was not paid
to scheduled-barnk fill due date. :

(vii) His contribution to employees recognised Provident Fund
was Rs»40,000 out of it Rs. 12,000 were paid ofter due date.

(viii) Donation of Rs. 1,00,000 was given to Prime Minister Na-
tiondl Reélief Fund. :

i), RS. 30,000 paid to the auditor for their professional fees in-
cluding Rs. 12,000 for Income Tax purpose.

(x)*’An expenditure of Rs. 10,000 were incurred in the mainte-

nance of a Guest House.
I\ The credit of the Profit and Loss Account includes the following:
(i) Rentofquarters let out to employees Rs. 1,50,000. The pres-
ence of employees in these quarters were beneficial for the
~ smooth and efficient conduct of the business of the assessee.
(i) Saleprice of a machine Rs. 1,50,000. The written down value
of the machine was Rs. 80,000, The written down value of -
L other assets in this block wasRs. 2,00,000. Depreciation on
| these assets was debited to Profit and Loss Account as per
prescribed rate. Prescribed rate (t)It; di_pﬁeciation is 15%.
’ e claims appropriate deduction for the following: -
- zl) Regardlijgg gurchase of patent right 20 years ago for Rs.

56,000 for a period of 20 years.

e ——— eSS
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(;) Regarding preliminary expenses of Rs. 30,000 incurred dur-
- Ing previous year 2013-14, The value of fixed assets on the
last day of that previous year was Rs. 10,00,000.

- oy g1 TP TaTE weT T £ 31 W, 201 6 B WA B qe
I D Y 9 A= @R ¥ %. 14,50,000 I A9 Ybe fHarl

71 srfaRem s &1 &g ¥ I g8 SR—aRT a9 2016—17
@ T S TR B I B U DI - ‘
L -1 W & 9 ue § e @) e fbar mary
@ Y P ARA 9 5.9 B [0 EAR Garsi D e
BT AHH U< YA @ 1T 2. 60,000 FHH |
() FTARAT A URIR PR BRHT ST Aed o D 117 ©.
10,000 T THI1TTIT. 3,000 BN T YOiFTd Yol T 1|
(iii) ST oA fAaidenad B %, 40,000 Y61 S (el
feafderer gR1 s IR &1 WA SrgHifes, q9ife e
BRIPT B G D Y A BRATE |
(iv) S fapa R R9F A2, 12,000 @GRS A BT AT
T3 YT AT o | S e R+, @R [ifr v swar
YA T8 BT &1 URg A9l e 3 e il & fere
qraeE Hx forar 2| :
v) 31 |/, 2016 DI SERND HARHE D ©. 25,000 B
=ToT BT R BT JEr e Y g T8 B wm ant
(vi) TP STEfT %07 U AT 5 BT T ©. 25,000 D A
DI R BT YA <Y Al 9 18 fhar ey
(vii) PHAIRAT &, TaIe 9RsIRR § 996 ST %. 40,000
BT AT N 2. 12,000 P IR BT FA9 <7 [y D
1< A 74 &1l
(viii) TEMEA T ek P9 H %. 1,00,000 ’cﬁraﬁﬁm
AGLAT |
(D), STARID] DI TP WRI T4 b @ o9 . 30,000 asrgnaﬁ
& T SR . 12,000 IR & BRI D affera &1
x) AT TE R 2. 10,000 BT [T fHar = ol
I <mo—8fa] @ o1 uE % =1 Rul < afafera fear = &:
() FHERATHIRRAR YR w@cd & fmrs. 1,50,0001
mﬁwamwwwa%msﬁﬁﬁ
¥ pHaIRAT &1 A e ol .
(i) TF TS B AT [ 9 1 soooom‘nﬂmanf%'rﬁaa
qed %. 80,000 AT 596 GYE H o9 wfal PI sqferRas
A %. 2,00,000 A & W FEHRd <R I g -1 Q@ A
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I forg i Tmar o | g ) REiRa &% 15 Jfe B
. % e & RIT B &t SR XIRT T 31T YRgd HYel &
@ T 20 T @ TP TH ARHR $. 56,000 H 20 T
& 3rafer & ferg o fosar el '
() THa¥ 2013-14 ¥ T BIS. 30,000 DURPIF AT D
| e ¥ | 99 s @ A e Tl el & I 9.

10,00,000 =l
Or
Discuss the provisions of Income Tax Act relating to the set off and
carry forward of losses.
BT 1 Off vF O o o N ¥ W STaR S 3
YA & 9o B - ,
Unit"m ) \
There were two partners in M/s Agarwal & Compary, (a partnership
firm) - Shri Bansal and Shri Kansal. during theprevious year 2015-16
Shri Goval also joined this firm on 1st January; 2016. Shri Bansal and
Shri Kansal shared profits and losses equally, They gave 1/4th share
of profit to Shri Goyal. Their capitals ar¢ Rs. 80,000 Rs. 40,000 and Rs.

20,000 respectively. They are entitledto/get interest @ 24% per an-
num on their capitals. Shri Bansal anid Shri Kansal are entitled to a
salary of Rs. 6,000 per montliandRs. 5,000 per month respectively
while Shri Goyal is entitled fo agalary of Rs. 4,000 per month. The firm
is engaged in professiofial, activities and its profit and loss account
revealed a net profitef Rs. 60,000 aftér making the above payments.
Compute the total income of the firm and tax payable by the firm for

the assessment year2016-17. | ‘
A . ErE HUAT (T RSN BH) A 3 WERR ¥ - £ §e
qorr & Feel | faag 99 2015-16 H 1 a9, 2016 &1 4 g
§ gt HERER 99 T | S G HHE Sli—rd SR1EX giex 9 |
IR Ahaee @ e § Te-dhaR 9 A T {o B v
803000, %..40,000, %. 20,000 & 9 Iull WX 9Riad 24 wfmw
25 U & AR 1 A s9a a2 A e B B, 6000 TG .
5.000 YRHE ¥ U > SR € TEE Al A 5. 4,000 WRE
IqT & AR E | B e TR BRIl A @R B8 ¢ T Sude ugweny
D I8 9D M-I TR 7 6. 60,000 BT A4 Yhe A ¥
FT-FaRo 9§ 201 6—17 B T & & FoT I 9§ W gRT A
DR Y TTUFT DI | o

Explain the whole process for assessment of Hindu Undividéd Family.
v g AR aRER TR BY-FeiRor &1 g ufdar Wl |
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